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QUESTION 1
An administrator has an application that requires connection directly to PCI devices through a virtual
machine.

What is a limitation of this configuration?

A. Devices must be reserved for PCI passthrough on at least one host on which the virtual machine will run.

B. Snapshots are not supported with DirectPath I/O passthrough devices.

C. A maximum of 18 PCI vSphere DirectPath devices can be added to a virtual machine.
D. Only one PCI controller can be presented to the virtual machine.

Correct Answer: B

https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.vm_admin.doc/GUID-
53F65726A23B-4CF0-A7D5-48E584B88613.html

QUESTION 2

A developer needs to create a multi-tier development stack for a home lab. Which vSphere product will support the

architecture required for the least software cost?
A. vSphere Hypervisor

B. vSphere Essentials

C. VMware Player

D. VMware Workstation

Correct Answer: A

QUESTION 3

How are ports scaled on vSphere Standard Switches (vSS)?
A. Ports on a vSS can be dynamically scaled up and down.
B. Ports on a vSS can only be statically scaled up or down.
C. Ports on a vSS can only be dynamically scaled down.

D. Ports on a vSS can only be dynamically scaled up.

Correct Answer: A
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QUESTION 4

An administrator has configured an alarm to be notified when a virtual machine meets two conditions:
high virtual CPU

high active memory consumption

The alarm is malfunctioning and triggering when either condition is met instead of both.

What can be done to correct the issue?

A. Edit the alarm and select Trigger if ALL of the following conditions are satisfied.

B. Edit the alarm and select Trigger if ANY of the following conditions are satisfied.

C. Create two separate alarms, one for CPU and one for memory.

D. Delete the existing alarm and create a new event based alarm.

Correct Answer: A

QUESTION 5

A new vApp was built and tested in the corporate headquarters datacenter running vSphere 6.x. What condition would
explain why the virtual machine is failing to boot in an offsite datacenter running on vSphere 5.5?

A. The virtual machine was built with the default hardware version.

B. The VMFS 5 datastore is not compatible with virtual machines configured with vSphere 6.x.
C. ADRS 5.5 cluster cannot run virtual machines configured with vSphere 6.x.

D. The VMDK file is locked.

Correct Answer: A
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